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Write 1 7/10 in decimal form.

What must be added to 4.09 to make 5?

What is 7/9 of 72?
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There are 100 children in a football club. 54 of them
are boys. What decimal fraction of them are boys?

A scarf costs €2.15. If Joe buys 3 scarves, how much
change will he receive from €20?

# of the 56 apples in a box are green. How many
green apples are in the box?

How many minutes are there from 4:17 to 4:45?

6x?2=72
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200+150 +75 =

10.

There are 8 pencils in a packet. How many
pencils will be in 50 packets?
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Find % of 32

A scalene triangle has equal sides

Write the missing humber: 237, 240, 246,
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Alex has 24c. Brenda has 13¢c more than Alex. Sarah
has 20c more than Brenda. How much money have the
children altogether?
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How many millilitres are in 3 a litre?
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58 buns are packed in bags of 7. How many bags are
needed and how many buns are left over?

Write 0.09 as a fraction

6+0.3+0.09
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What is the value of 8 in 18.034
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A football cost €12. Paul has 1/3 of the price.
How much more does he need to buy the football?




Wednesday

1. The total ages of Beth, Heather and Jack is 30. If
Heather is 10 and Jack is 12. What age is Beth?

2.72+6 =

3. Share 86 biscuits equally among 9 children. How
many does each child get and how many are left
over?
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5 oranges cost 50c. How many oranges can be
bought from €2.50?

What is 4 less that 7603?

6kg 5g - 3kg 6509 =

Which is the smallest number 5.34, 5.43, 3.45?
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Ben had 50 stickers. He gave 1/5 of them away. How
many stickers has he left?
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Bx9-=

10. 1/3 of my money is €9. How much money do I
have?

Thursday

b2 x 3=

053+6.7+09+=

Double 2.6

% an hour later than 2:55 is

100m of pipe at €2.20 per metre costs ?

Round 45.98 to the nearest whole number
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When measuring the weight of an object, I use:
a. Kg b.ml ccm dm
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Is a door symmetrical?

o

67g = kg

10. Sam started watching a movie at 6:55 and
finished at 9:10. How many hours and minutes was
he watching the movie?




Friday

What number is 250 more than 4,679?

12.79 - 3.99 =

(7x12) - (6x5) =

If 6 copies cost €3.60. Find the cost of 9 copies.

Round 1,055 to the nearest 1,000
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Find the difference in time from 11:30am to
12:30pm

Write today's date in dd/mm/yyyy format

Take 18cm from + m
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Write the value of the underlined digit 154.87

10. How many right angles are in a rectangle?

11. Ts an acute angle greater than a right angle?

12. 108 + = 12

13. 2/5 of a nhumber is 14. What is the number?

14, Subtract the product of 15 and 29 from the
product of 51 and 17

15. Three library books weigh 18.56kg. One weighs
3 % kg, the second weighs 5.8kg. What is the weight
of the third book?




